I YT 4

NAME L E

no iframe

AL

X (

5F)

TFDRBRIIZES

100m $2&

148 EE (+0. 1)

L—> Fun— K 4% B & A L [Eiva
1
2 4233 HH s EHX -3 FE 12872 6
3 423 % AARYIMA - - BE 10 # 66 1
4 3233 FER =K ERX -2 K% 11 ¥ 18 3
5 3238 AR EXX -2 ¥ 11 # 33 4
6 428 m o= BARYIVA - - BE 11 # 02 2
7 3210 InEE R EERKX -2 K 11 7 64 5
8 1902 E Et TRE -1 FE 127 85 7

248 B (+0.0)

L—> FonN— K 4% AT = 2A L [[=Civa
1
2 400 L a— TR TFC- - T DNS
3 431 X1l BA BAAYIVA - - B E 11 7 54 4
4 3359 MR EE F-L7AY - - FEE 10 % 73 1
5 4205 A 8K EREX -1 -E®EX &1 2
6 3396 ARE EBEX ERX -3 - k¥ 11 %42 3
7 4194 HE Fz ERXX-1-EHE M#73 5
8 1893 B & TRE -2 FE 12 # 58 6

348 EE (+0. 1)

L—> Fun— K 4 i = A L JEAL
1
2 444 ¥ FsE AARYIMA - - BE 11 # 55 4
3 3236 R EE ERX -2 K5 11527 3
4 3437 RHE %4 EEX -3 #HK 10 # 99 2
5 3207 FE @ ERX -2 EE 10 # 67 1
6 441 e E—HB BARYIVAA - - BE 11 #67 5
7 319 KEb AETS KES -1 FE 12 7 46 6
8 1938 HERE A TRE -1 FE 12 %70 7

448 EE (+0. 6)


http://www.geocities.jp/ibu1984tfc/kirokukai/2008/08.11.1.2.torakku.josi.htm

L—> Fun— K 4 AT = BA L IEAL
1 3105 BHF EX THREMK - 4 - 1L 127 35 6
2 434 TE RY¥E HAR VA - - BHE 12 ¥ 53 7
3 3444 5 RER ERX -3 %&E 11 % 07 3
4 4-453 /N #RtE Rise Sprint Club - - #7105 80 1
5 429 2" BASA AARYIMA - - BE 10 # 93 2
6 3395 AR #E ERX 3-8 11 7 36 4
7 318 = o BEE -1 FE 12 ¥ 08 )
8 1903 = B TRE 1 FE 137 94 8

b #f AR (+2.6)

L—> Fun— K 4 AT =3 BA L JEAL
1 1579 JAR R RRER - - ®R 12 7 42 7
2 435 THe 5T BAARYIMA - - BE 12 ¥ 00 )
3 402 HH EKX TRTFC- - FE 11 # 01 2
4 4223 ¥E EBE EEX -1 FE 10 # 91 1
5 440 Al 1EXRER HARYIVAA - - BE 11514 3
6 4225 RE Et ERX-1-RH 11 % 29 4
7 430 N e AARYIMA - - BE 12 ¥ 00 )
8 3228 #Ill K& ERX -2 Xk DNS

6 #8 B (+1.8)

L—> FunN— K % BT =2 2A L JEAL
1
2 1892 B FIE TRE -2 FE 11 % 95 6
3 3459 AH ERK -3 - E&E 11524 2
4 3223 Bk &E EHEX -2 #HK 10 ¥ 89 1
5 3251 *E OEX ERK -2 JtiEE DNS
6 3214 B BRE ERXX-2-5FE a4 3
7 3416 IR i BERX-3-&\% 11 % 86 5
8 4195 248 A ERX -1 #5 11572 4

100m 2E 3R B

148 RB®E (+4.7)

L—> FunN— K % BT =3 2A L JEAZ
1 3214 B HE ERXX -2 -5FE 112 6
2 4225 RH Bt ERX -1 K% 11 % 06 5
3 3444 Bi5 EXR ERX -3 %&E 10 # 86 4
4 423 % BAARYIMA - - BE 10 ¥ 53 2
5 453 N #BH Rise Sprint Club - - #rim 10 # 52 1
6 3437 FH % EEX -3 #HK 10 % 79 3
7 3233 FE =X ERX -2 - RE 11522 7




8 444 Y ESE BHAYIMA - - 1FE DNS
248 EE (+4.3)
L—> FunN— K 4 BT & BA L [ERiva
1 3396 ARHE EX ERXX -3 R DNS
2 3238 BFE 5o ERX-2-RH 11 % 20 6
3 4205 MR 8K ERK-1-E® =R DNS
4 3207 FLE @ ERX -2 EE 10 ¥ 49 1
5 4223 B OEE ERX -1 FE 10# 70 2
6 402 MH EX TRTFC- - FE 10 # 85 4
7 3459 WH ERX-3- E&E 117 04 5
8 429 R BABA BHAYIMA - - 1% 10 ¥ 84 3
3# E®E (+1.4)
L—> FonN— K % Fr I A L [[=Civa
1 431 NI BAR VA - - BFHE 11 % 48 7
2 3395 AR 2T ERX -3 - #HR 117 20 6
3 440 Al BEKRER BAYIMZ - - BE 11 % 02 3
4 3359 MR EE F-L74Y - - FIE 10 ¥ 56 1
5 3223 Bk HE EERKX -2 #HK 10 # 85 2
6 428 o= BAR VA - - BHE 11 % 07 4
7 3236 PR EE ERX-2- L5 1117 5
8 4195 248 A ERX-1-#5 11 % 60 8
100m SR
E&® (+1.5)
L—> FunN— K 4 BT = 24 L JEAL
1 429 R BARA HAYIVAZ - - BHE 10 ¥ 96 7
2 3223 B &H ERX -2 #HK 10 # 81 4
3 3359 MK EE F-L7AY - - FEE 10 ¥ 44 1
4 3207 HE ERX -2 BEE 10% 70 2
5 453 /NG $Rt8 Rise Sprint Club - - #78 10 # 85 5
6 423 % BAR VA - - BFHE 10 % 79 3
7 4223 B OEE EHRX -1 FE 10 # 91 6
8 3437 FH D EERX -3 #HK 11 % 04 8
200m F:E
148 E&E (+2.0)
L—Y FUnN— K % BT = B4 L [ERiva
1 4233 =H s ERX -3 FE 26 # 17 7




2 2525 I 8 BEals -1 FE 30 b 86 8
3 443 N YN AARYIMA - - BE 24 7 49 )
4 423 i s BAIIVZ - - B E 22 ¥ b2 1
5 3444 55 BE EERX -3 %E 23 7 06 3
6 446 HE & AARYIMA - - BE 23 7 24 4
7 3215 BA FR BRES - 2 - T 25 b b8 6
8 3437 RHE %4 EEX -3 #HK 22 7 69 2

248 B (+0. 6)

L—> Fun— K 4% B & A L [[EEiva
1 3223 Bk =R ERX -2 #HAK 22 ¥ 64 1
2 1903 = itk TRE -1 FE 29 # 19 7
3 2-276 hk =% HibK -4 B DNS
4 3394 T RE ERX -3 i@ 23 # 01 2
5 402 MH EX TR TFC- - T 23713 3
6 430 NRE B HARYIVAA - - BE 24 7 64 )
7 2161 AN ;) BEals -2 % 24 7 70 6
8 4225 RE Bt ERXX-1-RH 23 7 42 4

3 #H AR (+0.1)

L—> Fun— K 4 AT = BA L IEAL
1 3228 #Ill R EERX -2 - FiH 23772 3
2 2165 Bk AR BEaels -1 FE 26 7 42 7
3 3459 N ERX -3 &EE 23#19 2
4 427 BR —t HARYIVAA - - BE 23710 1
5 1892 BN FIE TRE -2 FE DNS
6 441 ¥l E—H HARYIVA - - BE 24 7 26 4
7 344 HEH Y4I7ADVERE - - R 25 b 84 6
8 3246 = =B ERX -2 dbtiEE 24 7 32 )

448 E® (-0.4)

L—> Fun— K 4 AT =3 BA L JEAL
1 3233 FIE =X ERKX -2 - B 23 7 b9 4
2 2162 O HiE BEais -2 % 27 7 81 8
3 4223 #»E OEE ERX -1 FE 22 7 86 2
4 3214 B BE ERKX-2-5E 23 7 01 3
5 2163 P XA BEalls -1 - FE 24 % 38 5
6 2164 i fE BEalls -1 FE 25 7 20 6
7 319 KED AR BES -1 FE 25 ) 61 7
8 3372 &R & EHX -3 LE 2275 1

b4 EaE (-1.1)

L—> FUnN— K % AT =2 2A L JEAL
1 429 R BARA HARYIVAA - - BHE 23716 1
2 1938 HERE EA TRE -1 FE 26 b 86 7




3 433 RS Hh BHAYIMA - - 1FE 237 78 2
4 3421 fEE {hth EHRX -3 L3 DNS
5 4-6 ERAR A R REET - - R 23 ¥ 83 3
6 318 =t B BES -1 FE 25 7 47 5
7 2160 = X BEeallie -2 TE 26 7 00 6
8 4201 &R &1 ERK-1-E®Ex 24 7 34 4
200m 2E R[5
148 B (+0. 1)

L—> FunN— K % AT =2 A L JEAL
1 441 IR E=—8B BARYIVAA - - BHE 23 # 90 7
2 446 BHE EC BAAYIVA - - B E 23 #b 34 5
3 3394 EW BE EEX - 3-8 22 7 23 2
4 423 % AARYIMA - - BE 21 7 87 1
5 3372 FIER & EHRX -3 LE 22 # 40 3
6 402 HH EX TRTFC- - FE 22 7 94 4
7 3228 21l REA EHRX -2 & 23 ¥ 49 6
8 2163 Pk KA BEaels -1 FE DNS

2# B (+0. 1)

L—> FunN— K % BT = 2A L IEAZ
1 4201 &R &f EREX-1-EHE 24 7 08 6
2 4225 RH Bt ERX -1 K% 23 7 48 5
3 3444 55 BE EERX -3 %&E 22 7 98 4
4 3223 Bk =E ERX -2 #HAK 22 7 28 1
5 4223 E OEE ERK-1-FE 22 7 b1 3
6 429 2" BAGA HAARYIMA - - BE 22 7 35 2
7 433 BE AL BAYIMA - - BE 257 30 8
8 443 A AKX BARYIVAA - - BHE 24 7 56 7

3 #H A& (-0.1)

L—> Fun— K % Fr = A L [[=Civa
1 3246 =5 B ERX -2 dtiEE DNS
2 3233 FER =K ERX -2 K% 23 # 40 6
3 427 'R —1t AARYIMA - - BE 22 7 66 2
4 3437 RH D ERX -3 #HAK 22 ¥ b5 1
5 3214 B BE ERKX-2-5E 22 7 75 3
6 3459 ¥AR $R EREX -3 EE 22 7 83 4
7 4-6 ERAR A PR REET - - R 22 ¥ 83 4
8 430 WNRE B AARYIMA - - BE 24 7 65 7




200m R

E&E (+0.6)

L—> Fun— K 4% B = A L =i
1 3372 fIER W& EHRX -3 WLE 22 # 29 5
2 427 'R —t AARYIMA - - BE 22 7 38 6
3 3394 W EE EHX -3 Hid 22 7 01 2
4 3223 Bk R EERKX -2 K 23 # 99 8
5 423 i st BAIINAZ - - B E 21 7 80 1
6 3437 FH D EHRX -3 #HK 22 ¥ 40 7
7 429 R BARA BARYIVAA - - BHE 22 7 02 3
8 4223 #E EBE ERX-1-FE 22 7 05 4
400m — Xk

148

L—> Frn— K £ A = A L [[=Civa
1
2 3405 EBE EX ERXX-3-ES 51 # 95 )
3 425 £EE HE BAYIMA - - BE 50 b 42 3
4 422 R EX BARYIVAA - - BHE 48 b 66 1
5 433 'S Bt AARYIMA - - BE 50 # 02 2
6 3198 EHH #5A ERX -3 RH 51 # 25 4
7 312 INEFF B XRS -2 FTE 54 b 58 6
8

218

L—> FunN— K 4 BT = B A L JEAL
1
2 444 A FsE HAYIVAZ - - BHE 53 # 40 )
3 3394 e BE ERX -3 i@ 49 ¥ 69 1
4 4227 aEs Ez ERX -1 - & 50 #» 14 2
5 4199 INE BT ERX-1-RH 50 # 33 3
6 198 Mgk = EWmELHEEHGs - - FE O 2# 93 4
7 435 THe 5AMfT AARYIMA - - BE 60 # 08 6
8

34

L—> FUnN— K % AT =2 2A L JEAL
1
2 3197 =H BN ERX-3-5F 52 # 00 2
3 3371 FIEB  BAEE EERX -3 #HAK DNS




4 427 'R —t BHAYIMA - - 1FE 49 # 27 1
5 3421 [EE fats EHRX -3 L3 DNS
6 446 HE IS BARYIVA - - B E 53 7 62 3
7 400 L a— TRTFC - - FE DNS
8
400m =

148

L—> Fun— K 4% AT = "4 L IEAL
1
2
3 444 M ¥ BRIV - - BE 52 % 82 4
4 4227 aE EFZ ERX -1 - &xH 50 # 79 1
5 3198 =H #5A ERXX -3 RH 51 23 2
6 3197 =H BN ERX-3-&5F 51 # 70 3
7 446 HE 2 HAYIMA - - 1BE 53 # 79 5
8

218

L—> Fun— K 4 A =3 A L AL
1
2
3 433 'S #th BAIIVA - - B E 50 F 50 3
4 422 R EX HAYIMA - - 1B5E 49 7 31 1
5 427 'R —t BRIV - - BE DNS
6 3394 o BE ERX -3 i@ 49 7 90 2
7
8
800m 2 A L L — X 3REF

148

L—> FunN— KE 4 BT == BA L AL
1
2 1937 IWH £2 TRE -1 FE 25717 7 86 4
3 2 B%F Tt BARYIVA - - BEE 249 04 % 36 1
4 4218 PR — ERX -1 FE 2 4> 05 # 35 2
5 3198 HH  #®ihA ERX -3 - K& DNS
6 1891 X% KEP TRE -2 FE 25710819 3
7 4199 INE BN ERXX-1-RH DNS




218

L—> FunN— K % BT = 2A L IEAZ
1 4209 BE it ERXX -1 RS 24y 07 # 19 6
2 31 Wil s=3t KRS -2 FE 143 69 > 64 3
3 3366 ME BA ERX -3 FE DNS
4 3215 A = EHRX -2 & 143 56 ¥ 43 2
5 3224 BEH It ERK -2 -HE 14355 % 60 1
6 3226 fERAK BASE ERKX -2 FE 24501 F16 4
7 4215 EH 22— ERK -1 - #X) 2 5> 03 #» b5 5
8

800m ¥s & #E R

B F = K 4 BT = B A L
1 3224 EH Hth ERXK- -2 -&/E 14> 55 # 60
2 3215 A T=E EERX -2 - Fi 143 56 # 43
3 311 Wi s=3 BEE -2 TE 1 43 59 ) 64
4 3226 fERAK BASE ERK -2 FFE 2501 #16
5 4215 EH 22— EEX -1 - #x) 2 4> 03 # bb
6 2 2% Tt BARYINA - - BEE 249 04 5 36
7 4218 R — ERX -1 FE 2 4> 05 # 35
8 4209 BE it ERX -1 R 24507 # 19
1500m SRz

ORD.  Fu/nN— E % i 5 24 L JELL
1 4198 NN | ERKX-1-#5 45315 ¥ 45 6
2 4202 #HHE Bo EEX -1 - @R 4 43 24 7 29 17
3 317 SR1TI: RES -1 FE 4 53 46 7 04 19
4 5056 Bi =" ERKX-1-FE 445521778 15
5 3461 EE O ERXX -3 RH 45318 7 04 11
6 4219 R Rz ERKX -1 358 45516 7 32 8
7 3450 BH HE ERXX-3-&FE DNS
8 1463 mH RE p=FNEEEN--§- 4 43 05 F 51 3
9 3385 s B ERKX-3-FE 44522 7 36 16
10 3415 xR KHE EHRX-3-WA 451174 )
11 1464 VN ) 73dL - - EEK 4 4 00 7 38 1




12 3393 AXF XN ERK -4 LB 4 43 05 # 06 2
13 311 AW =3t BES -2 FE 445319 7 98 13
14 4236 ELE LN ERK -1 KB 4 4318 F 61 12
15 3248 Wig B ERX -2 FE 4517 7 31 10
16 1891 X% KBED TRE -2 FE 4 53 44 7 24 18
17 4228 EA MR EERX-1-#HK 45177 05 9
18 2 EE It HA VA - - BEE 44521 11 14
19 1937 IWH 2 TRE -1 FE 4 4351 7 33 20
20 3460 £ ETH ERK -3 EHR 44315 7 80 7
21 3366 ME EBEA EHRX -3 FE 445308 716 4
5000m R

ORD. T N— iV £ A B DNS [[=Civa
1 317 S L EES -1 FE 17 5> 47 7 32 14
2 4236 EHR 2B ERXX-1-L5 1757312 % 13
3 3460 £ FE_H ERX -3 EHEK 15 43 50 # 80 )
4 3450 BH HE ERKX-3-FE DNS
5 4228 EA R EREX -1 #HK 16 32276 9
6 3385 s B ERKX-3-HFE 15 4> 49 7 71 4
7 3393 AE Kt ERXX -4 L5 14 4> 58 1
8 3415 RKE KB ERKX-3- W0 15 43 49 Fb 48 3
9 3248 g EA ERX -2 FE 16 /3 19 7 46 8
10 3461 EE O ERX -3 RH 15 4 67 # 93 6
11 4202 wH #®e EERX -1 - @Kl 16 4> 25 7 68 10
12 5056 Bl =" EEX -1 FE 16 43 69 F 88 11
13 4219 R Bz ERX 138 1750156 12
14 4198 NI K8 ERX-1-#K 15 43 44 7 69 2
15 47 =H X8 IS - 3 FE 16 43 09 % 04 7
110mH ¥ 28

148 & (+1.8)

L—> Fon— K 4% Fr = A L JEAL
1 3222 B E— EHRK -2 T 15 # 87 7
2 3382 NN ERX -3 dtEE 14 7 95 5
3 4205 MR X EREX-1-E®EK 14712 1
4 3463 E—tEX = ERXX -3 Xk 14 % 23 2
5 3384 /NI BABA EHRX -3 Al 14 % 53 4
6 3411 TE WX ERKX -3 FE 14 7 39 3
7 343b =% HE ERXX-3-&FE 15719 6
8 316 B SEX KRS -1 FE 18 # 09 8




248 BE (+0. 4)
L—> Fon— K 4 AT = BA L JEAL
1 2510 FE 5 HRUBEHAK -3 FE 16 # 57 7
2 4211 4 X ERXX-1-5FE 15 % 30 5
3 3069 2E R EHKAC- - FTE 14 ¥ 55 2
4 4-72 i AR THHEEX-M2 - EE 14517 1
5 3372 fRIES A E EHRX -3 Wk 14 ¥ 76 3
6 3390 #F =R ERK -3 FE 15516 4
7 3432 FxR F EHEX -3 #HK 15 ) 63 6
8
110mH SR
A REE R (+1.2)
L—> FUnN— K % AT = B A L JEAL
1 3382 XA EK ERX -3 - dbiEE 14 7 98 8
2 3069 BE R ERRERFEAC - - TE 14 ¥ 76 7
3 3411 TE WX ERK-3- FE 14 # 43 4
4 4205 MR AKX EREX-1-E®EE 14 b 32 3
5 72 i RER THHBEEKX-M2 - B 14 ¥ 03 1
6 3463 E—tEX 2 ERXX -3 Xk 14514 2
7 3384 /NI BABA EHRX -3 Al 14 % 52 6
8 3372 &R W& EEHKX -3 WK 14 # 50 5
B SR E& (+0.8)
L—> FUnN— KE 4 AT =2 BA L JEAZ
1 2510 FE B RRIEMKRE -3 - FE 16 % 46 6
2 3432 FE F ERKX -3 K 15 7 b4 4
3 3390 ¥F = EHRX -3 FE 15 # 11 2
4 3435 2E HE ERKX -3 -&E 15 7 11 2
5 4211 4 X ERXX-1-&FE 15 % 03 1
6 3222 B E— EHRX -2 FE 16 # 09 b5
7 316 A N EES -1 FE 19 # 53 7
8
200mH & o L L — X R
148 EE (+0. 1)
L—> Fun— K 4% Fr = RN [EEiva
1
2 4-6 ErK A HimPRERT - - R DNS




3 2163 FEg K BEeils -1 FE 29 # 09 3
4 2162 WO B BEaE -2 FE 36 # 90 5
5 2164 i ME BEeils -1 FE 32718 4
6 3222 BB ERK -2 FE 26 # 61 2
7 3436 FiE MAY ERX -4 -#5 25 % 42 1
8
248 @& (+0. 6)
L= F2NR—= K % BT == 2A L [=Liva
1
2 25610 FE 5 REIEHRK -3 - FE 26 7 87 4
3 344 A & Y4720V ERRE - - BRfE 27 # 31 5
4 3359 MA BE F-A747 - - FE 23 % 24 1
5 3390 FF = ERX-3- F%E 3390 6
6 4211 4 AKX ERX-1-8E 26 7 04 2
7 428 M= BRIV - - FE 26 7 08 3
8
200mH ¥ &R
gtz F2— K % BT == 2A L
1 3359 MA BE F-h747 - - FE 23 % 24
2 3390 *®F = ERX-3- F%E 25 02
3 3436 fE A ERX -4 - #5 25 % 42
4 4211 4 X BRX-1-&/% 26 7 04
5 428 Moo= BRIV - - FE 26 # 08
6 3222 BB ERK -2 - FE 26 # 61
7 25610 FE 5 REEHRK -3 - FE 26 7 87
8 344 HHE #b Y4I7A0VERM - - BRfE 27 # 31
400mH — %R
148
L= FUnR—= K % BT == 2A L [=Liva
1 312 NEFF OER kRS -2 FTE 62 7 89 7
2 4214 E# 6% ERX-1-#x)l 57 # 53 5
3 3371 BrIER  BAEE ERX -3 #HK DNS
4 422 RB EX BARYIVAA - - B E 53 7 b9 1
5 2023 BE EZ F-L74Y - - FE 54 # 02 2
6 198 Mgk =i EHELEKEE - - TE 56743 4




7 3411 TE KX ERX -3 FE 54 %) 34 3
8 4205 NI ERA -1 - HR 58 ) 29 6
2 %8
L—> FonR— K 4% BT B 2A L [[=Eiva
1 4216 Heh #fE ERA-1-#BE DNS
2 4208 INPR [ ERX-1- B 56 #» 30 2
3 3384 /NI BABA ERX -3 - Al 60 % 77 5
4 431 Rl B BAIIVA - - B E 55 ) 18
5 429 £F B35k BAIIVA - - B E DNS
6 4213 ERAR Eis EEX -1 - H 57 ) 84 3
7 4222 AT F05A EEX -1 - & 60 % 40 4
8 3222 B B ERA -2 FiE 63 ) 95 6
400mH =X
148
L—> FUnR— K 4% B = 2A L [EKiva
1
2 4222 AT F08A EEX -1 - &g 59 % b5 5
3 431 Al B8 BAIIVA - - B E 55 F 24 3
4 422 RE BX BAIIVA - - B E 53 )18
5 2023 BE Iz F-LTAT - - FEE 54 F 33 2
6 4214 T G EERX-1- 8% 57 # 21 4
7
8
4 x100mR
<1> <2> FLZay <3>
EHES K £ EHRES K 4% EHRES K %
140 o &4 315 ME - EN
712 BH —E 316 EE X
1600 AE ML 317 B R
1576 A R 318 =t %
319 KE AEFE
<4> <5> <6>
EBES K £ EHBES K % EHES K %
3459 WHE 3421 R fhi 400 sl a—
3371 BrIER  BAEE 3223 Bk R 402 HH EX
3437 FH ED 4223 HE BE 403 INAL B
3444 BE BER 4227 mE EZ 249 EH EX




<7>

EBES K £ EHES K %
428 m =
425  XEE HE
423 e
429 ZE  BAGL
L—y F—L% g By 3 [t
1
2 Loy Lo BE #E —E AE BI® A R 44. 59 4
3 BESK] RS IS =t B IR AE EN 48. 05 6
4 ERA A RE %t WE BB ER Y 42.26 3
5 ERAAMTOwH AEE it BH RKE RS EE HiE xZ 41.65 2
6 T & TFC BE EX e BEK B E— Nt BB 44. 01 5
7 BAYILRR | BX LEE BE R R 2E 95 41.03 1
8
<1> <2> <3>
EBES K £ EBES K % EHES K %
3463 ET—FtRX & 311 Wiy =3
3372 IR & 312 INEFF ER
3390 #7 =R 313 B’ E=—
3384 INJII - BABA 314 W ReE
<4> <5> <6>
THES K £ EHES K % EHES K %
3236 PR EBE 3394 T BRE 1892 BN FIE
4201 'H &7 3198 =H  #5A 1893 s B
4225 JRE Bt 3197 =H BN 1938 fHE4% A
3251 KE X 3395 AR fERA 1902 e Et
3233 FE =X 1889 X B
3214 F BHE 1903 21
<T> <8>
EHES K & EBES K %
3435 =% HBE
3432 FE F
3411 TE& X




4211 4 X
L—y F—L% B ACE% [Liva
1
2 F— LB E—€X & W & 7 = /NI BABA 42. 62 1
3 RS Bl xA NBE ER M WE I £ 47.66 4
4 ERXB &A Bf7 RE Bt HFE Nz INE BN 43.57 3
5 ERX4MTovsE AR R EE BN 0 SH B3 &8 KR 43.20 2
6 TEER B ORE 2B ER HEE FE Fe 48. 28 5
7 F— L5 B2 BB FB T WA 5 K DSQ
8
4 X 400mR
<1> <2> BT = <3> BrEEE
EBES K £ EHES K % THE K 4
34056 EBE EX 2160 =g X
3197 =Ml BN 2161 EIN B
3394 e BE 2164 i FE
3366 ME EA 2163 il PN L
3450 B HE 2162  EO B
2165 Bik sk
<4> ERAER <5> ERKRIEM <6> EE A 400mH
THES K £ EHES K £ THE K 4
3223 Bk &H 3421 [EE faih 4222 A FOBA
3214 B g 3198 =H %3 4213 fkaK FEth
4227 mE EZ 3233 FE =X a14 ks G
4223  #HEH EBE 4199 INE BN 4216 B E1E
3395 AR BEE 4208 INFR
<7> <8>




F—L% EIE LY 23 (=i
1
2 ADAIE = =H BN (kB EX| R FHR ($E BE 3492810 3
3 BEEilE EE ME | AN 8| Bk A% (P KH 349 43 7 86 5
4 W NI EH It BEH BE| B B |BE ®X 317575 1
5 ERARE# | SH #H5h [EBE ) FE =X |[/NE EN 39 198 00 2
6 EEK400mH (4K ZEtb| Nk BE | kB BE |FFA A 3429 # 09 4
7
8




